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Used to vs Be used to - Test 02 

 

Questions 

1.  I know he smokes now but he didn't ________ before. 

A. used to smoke  

 

B. use to smoke 

 

C. use to smoking  

 

D. used to smoking 

 
 

2.  I'm not used ________ for people. 

A. to wait  

 

B. waiting 

 

C. to waiting  

 

D. wait 

 
 

3.  We are not used ________ these things in here. 

A. to doing  

 

B. do 

 

C. doing  

 

D. to do 

 
 

4.  I can't ________ to this noise. 

A. getting used  
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B. get used 

 

C. getting use  

 

D. get use 

 
 

5.  She still hasn't got ________ in London. 

A. use to living  

 

B. use to live 

 

C. used to living  

 

D. used to live 

 
 

6.  The fat man was tired because he was not used ________ so fast. 

A. to run  

 

B. to running 

 

C. run  

 

D. running 

 
 

7.  Father is not very fat now, but he ________ fatter. 

A. is used to be  

 

B. used to be 

 

C. used to being  

 

D. is use to be 
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8.  Americans in England need some time to get ________ on the left. 

A. used to drive  

 

B. use to drive 

 

C. used to driving  

 

D. use to driving 

 
 

9.  I'm not fat now but I ________ very fat before. 

A. am used to be  

 

B. used to be 

 

C. am used  

 

D. use to be 

 
 

10.  My father is not used ________ in queues. 

A. to wait  

 

B. to waiting 

 

C. waiting  

 

D. wait 
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